Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re responses to Staff's 13th and CARD's 7th sets of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.80	345.00	276.00
02/26/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re CARD 7, Staff 13, and responses and A. Jeffries and M. Ward re CARD 7 / PUCT/Discovery	A106	T-GDisc L310	1.60	420.00	672.00
02/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC's 10th and Sierra Club's 4th sets of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00
02/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client M. Becker and S. Bankston re scope and timing of supplemental responses to CARD 2-10 and 2-26 / PUCT/Discovery	A106	T-GDisc L310	0.30	345.00	103.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re supplemental responses to CARD 2-10 and 2-26 / PUCT/Discovery	A104	T-GDisc L310	0.30	345.00	103.50
03/01/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to TIEC 7th RFI / PUCT/Discovery	A104	T-GDisc L310	0.40	420.00	168.00
03/01/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze objection issues re ETEC-NTEC's 1st / PUCT/Discovery	A104	T-GDisc L310	0.10	145.00	14.50
03/01/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Plan and prepare for ETEC-NTEC's 2nd and update procedural calendar re same / PUCT/Discovery	A101	T-GDisc L310	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/01/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC 7 and correspondence re same / PUCT/Discovery	A104	T-GDisc L310	1.50	420.00	630.00
03/01/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client S. Bankston re TIEC 7 / PUCT/Discovery	A106	T-GDisc L310	0.30	420.00	126.00
03/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze final responses to Staff's 13th set of RFIs, and supplemental response to CARD 2- 10 / PUCT/Discovery	A104	T-GDisc L310	0.40	345.00	138.00
03/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with other external CARD counsel B. Foley responses to CARD's 2nd RFIs and potential supplementation of same / PUCT/Discovery	A108	T-GDisc L310	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client J. Frederick and S. Bankston re supplemental responses to CARD 2-10 and 2-26 / PUCT/Discovery	A106	T-GDisc L310	0.30	345.00	103.50
03/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client A. Carlin re ETEC 1-19 / PUCT/Discovery	A106	T-GDisc L310	0.20	345.00	69.00
03/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETEC's 2nd set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00
03/02/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to TIEC 7th RFI / PUCT/Discovery	A104	T-GDisc L310	0.30	420.00	126.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/02/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client S. Bankston et al. re response to TIEC 7th RFI / PUCT/Discovery	A106	T-GDisc L310	0.40	420.00	168.00
03/02/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETEC NTEC's 2nd and Staff's 11th and update procedural calendar re same / PUCT/Discovery	A104	T-GDisc L310	0.20	145.00	29.00
03/02/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC 7 and responses / PUCT/Discovery	A104	T-GDisc L310	1.00	420.00	420.00
03/02/2021	woc	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re TIEC 7 and responses / PUCT/Discovery	A106	T-GDisc L310	0.40	420.00	168.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re review of responses to TIEC's 7th set of RFIs / PUCT/Discovery	A106	T-GDisc L310	0.40	345.00	138.00
03/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re responses to TIEC's 7th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.60	345.00	207.00
03/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client A. Carlin and S. Scheer re scope of ETEC 1-19 / PUCT/Discovery	A106	T-GDisc L310	0.20	345.00	69.00
03/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETEC's 2nd set of RFIs and Staff's 14th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/03/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Nucor's 4th and update procedural calendar re same / PUCT/Discovery	A104	T-GDisc L310	0.10	145.00	14.50
03/03/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise outstanding discovery list / PUCT/Discovery	A103	T-GDisc L310	0.10	145.00	14.50
03/03/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Nucor's 4th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.10	345.00	34.50
03/03/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze final responses to TIEC's 7th RFIs / PUCT/Discovery	A104	T-GDisc L310	0.40	345.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/04/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETSWD's 3rd and update procedural calendar re same / PUCT/Discovery	A104	T-GDisc L310	0.10	145.00	14.50
03/04/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re outstanding statements under protective order to Sierra Club 1, CARD 5, ETSWD 2, and Nucor 3 / PUCT/Discovery	A104	T-GDisc L310	0.20	145.00	29.00
03/04/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze OPUC 9 and responses / PUCT/Discovery	A104	T-GDisc L310	0.40	420.00	168.00
03/04/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team and T. Brice re OPUC 9 and responses / PUCT/Discovery	A106	T-GDisc L310	0.50	420.00	210.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/04/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re protective order statements for confidential discovery responses / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00
03/06/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 8, responses, OPUC 10, responses / PUCT/Discovery	A104	T-GDisc L310	0.50	420.00	210.00
03/08/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze discovery / PUCT/Discovery	A104	T-GDisc L310	0.60	420.00	252.00
03/08/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD's 9 & 10, Eastman 1, TIEC 11, and Nucor 5 and update procedural calendar re same / PUCT/Discovery	A104	T-GDisc L310	0.40	145.00	58.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/08/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to and communications re Sierra Club 2nd, CARD 9th and 10th, Eastman 1st, TIEC 11th, and Nucor 5th sets of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.90	345.00	310.50
03/08/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 8, OPUC 10, and responses, TIEC 8 9 and 10, Sierra Club 2 3 and 4, Eastman 1 and correspondence re same, ETEC 1 and 2, Staff 14, ETSWD 3, Nucor 3 and 4, and potential objection issues / PUCT/Discovery		T-GDisc L310	3.00	420.00	1,260.00
03/08/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re CARD 8, OPUC 10, and responses / PUCT/Discovery	A106	T-GDisc L310	0.60	420.00	252.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/09/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to ETEC 1st RFI / PUCT/Discovery	A104	T-GDisc L310	0.30	420.00	126.00
03/09/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client S. Bankston et al. re response to ETEC 1st RFI / PUCT/Discovery	A106	T-GDisc L310	0.10	420.00	42.00
03/09/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 9th RFI / PUCT/Discovery	A104	T-GDisc L310	0.40	420.00	168.00
03/09/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze new discovery received / PUCT/Discovery	A104	T-GDisc L310	0.40	420.00	168.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/09/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETSWD 4, CARD 11 & 12, Staff 15, and Sierra Club 15 and update procedural calendar re same / PUCT/Discovery	A104	T-GDisc L310	0.40	145.00	58.00
03/09/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze and finalize statements under protective order re Nucor 3, ETSWD 2, Sierra Club 1, and CARD 5 / PUCT/Discovery	A104	T-GDisc L310	0.20	145.00	29.00
03/09/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client G. Gullickson re objection and response deadlines to Staff's 15 / PUCT/Discovery	A106	T-GDisc L310	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize Statement Under Protective Order (SUPO) for filing re Sierra Club's 1st RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize SUPO for filing re CARD's 5th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize SUPO for filing re ETSWD's 2d RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize SUPO for filing re Nucor's 3d RF / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/09/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses and associated exhibits to Sierra Club 2nd set of RFIs / PUCT/Discovery	A104	T-GDisc L310	1.10	345.00	379.50
03/09/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise protective order statements for confidential materials responsive to Sierra Club 1st RFIs, CARD 5th RFIs, ETSWD 2nd RFIs, and NUCOR 3rd RFIs / PUCT/Discovery	A103	T-GDisc L310	0.80	345.00	276.00
03/09/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to CARD's 11th and 12th sets of RFIs, Staff 15th set of RFIs, ETSWD 4th set of RFIs, and Sierra Club 5th RFIs / PUCT/Discovery	A104	T-GDisc L310	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/09/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETEC 1 and responses / PUCT/Discovery	A104 ;	T-GDisc L310	2.00	420.00	840.00
03/09/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re ETEC 1 and responses / PUCT/Discovery	A106	T-GDisc L310	0.70	420.00	294.00
03/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client G. Gullickson re Staff 15 deadline issues and update procedural calendar re same / PUCT/Discovery	A106	T-GDisc L310	0.10	145.00	14.50
03/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze OPUC 11 and update procedural calendar re same / PUCT/Discovery	A104	T-GDisc L310	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC's response to SWEPCO 1 / PUCT/Discovery	A104	T-GDisc L310	0.20	145.00	29.00
03/10/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re review of responses to Sierra Club's 2nd set of RFIs / PUCT/Discovery	A106	T-GDisc L310	1.70	345.00	586.50
03/10/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses and supporting exhibits to Sierra Club 2nd set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.40	345.00	138.00
03/10/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to Sierra Club 3rd RFIs / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/10/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC's responses to Company's 1st set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00
03/10/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze OPUC's 11th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.10	345.00	34.50
03/11/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to CARD 9th RFI / PUCT/Discovery	A104	T-GDisc L310	0.30	420.00	126.00
03/11/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client J. Frederick et al. re response to CARD 9th RFI / PUCT/Discovery	A106	T-GDisc L310	0.10	420.00	42.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re response to Sierra Club 3rd RFIs / PUCT/Discovery	A106	T-GDisc L310	0.30	345.00	103.50
03/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re CARD 12-1 response / PUCT/Discovery	A104	T-GDisc L310	0.30	345.00	103.50
03/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client P. Flory re response to CARD 12-1 / PUCT/Discovery	A106	T-GDisc L310	0.10	345.00	34.50
03/12/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 9 and correspondence re same / PUCT/Discovery	A104	T-GDisc L310	0.30	420.00	126.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/15/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC's 12th and issues surrounding deadline ending discovery on SWEPCO's direct / PUCT/Discovery	A104	T-GDisc L310	0.10	145.00	14.50
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents and assess basis of confidentiality related to CARD's 2nd RFI / PUCT/Discovery	A104	T-GDisc L310	0.20	230.00	46.00
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SUPO re CARD's 2nd RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents and assess basis of confidentiality related to CARD's 7th RFI / PUCT/Discovery	A104	T-GDisc L310	0.30	230.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SUPO re CARD's 7th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents and assess basis of confidentiality related to CARD's 8th RFI / PUCT/Discovery	A104	T-GDisc L310	0.10	230.00	23.00
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SUPO re CARD's 8th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents and assess basis of confidentiality related to Staff's 11th RFI PUCT/Discovery	A104 /	T-GDisc L310	0.10	230.00	23.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/15/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SUPO re Staff's 11th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re TIEC's 12th set of RFIs and withdrawal of same / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00
03/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze communications w/T. Beske re responses to Sierra Club's 5th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00
03/16/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to Sierra Club's 4th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/17/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to CARD 9th RFI / PUCT/Discovery	A104	T-GDisc L310	0.30	420.00	126.00
03/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client C. Martel and R. Ross re TIEC 11- 4 / PUCT/Discovery	A106	T-GDisc L310	0.20	345.00	69.00
03/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze protective order statements re confidential materials submitted with CARD's 7th and 8th sets of RFIs, supplemental response to CARD 2-10, and Staff's 11th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.50	345.00	172.50
03/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to ETEC's 2nd set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re ETEC's 2nd set of RFIs / PUCT/Discovery	A106	T-GDisc L310	0.50	345.00	172.50
03/19/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize SUPO for filing re CARD's 8th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/19/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize SUPO for filing re CARD's 7th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/19/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize SUPO for filing re CARD's 2nd RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/19/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise and finalize SUPO for filing re Staff's 11th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to Staff's 14th and CARD's 10th sets of RFIs and communications re same / PUCT/Discovery	A104	T-GDisc L310	0.40	345.00	138.00
03/22/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to CARD 9th RFI / PUCT/Discovery	A104	T-GDisc L310	0.40	420.00	168.00
03/22/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client M. Romine et al. re response to CARD 9th RFI / PUCT/Discovery	A106	T-GDisc L310	0.20	420.00	84.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/22/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETEC 2 and responses / PUCT/Discovery	A104	T-GDisc L310	0.60	420.00	252.00
03/22/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re Nucor 4 and responses / PUCT/Discovery	A106	T-GDisc L310	0.80	420.00	336.00
03/22/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client T. Brice, L. Ferry-Nelson, J. Jackson, S. Bankston, and litigation team re responses to Nucor's 4th set of RFIs / PUCT/Discovery	A106	T-GDisc L310	0.80	345.00	276.00
03/22/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to Nucor's 4th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	1.20	345.00	414.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/22/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to ETSWD's 3rd set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.40	345.00	138.00
03/23/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to ETEC-NTEC's 2nd and Staff's 14th / PUCT/Discovery	A104	T-GDisc L310	0.20	145.00	29.00
03/23/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents and basis of confidentiality re Sierra Club 2nd RFI / PUCT/Discovery	A104	T-GDisc L310	0.80	230.00	184.00
03/23/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SUPO re Sierra Club 2nd RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/23/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents and basis of confidentiality re Sierra Club 3rd RFI / PUCT/Discovery	A104	T-GDisc L310	0.20	230.00	46.00
03/23/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SUPO re Sierra Club 3rd RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00
03/23/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents and basis of confidentiality re TIEC's 9th RFI / PUCT/Discovery	A104	T-GDisc L310	0.10	230.00	23.00
03/23/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SUPO re TIEC 9th RFI / PUCT/Discovery	A103	T-GDisc L310	0.10	230.00	23.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/23/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client J. Frederick, C. Burnett, and litigation team re responses to ETSWD's 3rd set of RFIs / PUCT/Discovery	A106	T-GDisc L310	0.50	345.00	172.50
03/23/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re responses to ETSWD's 3rd set of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.30	345.00	103.50
03/24/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Research re CARD's 12th set of RFIs / PUCT/Discovery	A102	T-GDisc L310	1.80	230.00	414.00
03/24/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client T. Brice and M. Gage re CARD 12 / PUCT/Discovery	A106	T-GDisc L310	0.50	420.00	210.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/24/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 9 and 11 responses and attachments, CARD 12, discovery rules and precedent, and correspondence re same / PUCT/Discovery	A104	T-GDisc L310	4.60	420.00	1,932.00
03/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re CARD 2-10 / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00
03/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client J. Griffin re response to Staff informal request re Exhibit LFN-1 / PUCT/Discovery	A106	T-GDisc L310	0.10	345.00	34.50
03/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with other external Staff counsel R. Asher re informal request re Exhibit LFN-1 / PUCT/Discovery	A108	T-GDisc L310	0.10	345.00	34.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/25/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to CARD 9th RFI / PUCT/Discovery	A104	T-GDisc L310	0.70	420.00	294.00
03/25/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client J. Frederick et al. re response to CARD 9th RFI / PUCT/Discovery	A106	T-GDisc L310	1.00	420.00	420.00
03/25/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise summary of research concerning CARD's 12th set of RFIs / PUCT/Discovery		T-GDisc L310	0.80	230.00	184.00
03/25/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 12, responses, and related precedent, Sierra Club 5 and responses, ETSWD 4 and responses, TIEC 11 and responses / PUCT/Discovery	A104	T-GDisc L310	2.80	420.00	1,176.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/25/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re CARD 11 and CARD 9 and responses / PUCT/Discovery	A106	T-GDisc L310	1.50	420.00	630.00
03/25/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to CARD's 9th and 11th sets of RFIs / PUCT/Discovery	A104	T-GDisc L310	0.80	345.00	276.00
03/25/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client T. Brice, S. Bankston, J. Frederick C. Burnett, M. McMahon, J. Jackson, and litigation team re responses to CARD's 9th and 11th sets of RFIs / PUCT/Discovery	A106 ,	T-GDisc L310	1.60	345.00	552.00
03/25/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re scope of CARD 12-10 / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/26/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client T. Brice re CARD 12 and litigation team re Sierra Club 5 and responses and w/T. Beske re CARD 9 and with litigation team re ETSWD 4 and responses, TIEC 11 and responses, and Eastman 1 and responses / PUCT/Discovery	A106	T-GDisc L310	1.80	420.00	756.00
03/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to ETSWD 4th and 5th sets o RFIs, Staff's 15th set of RFIs, Eastman's 1st set of RFIs, and Nucor's 5th set of RFIs, and communications re same / PUCT/Discovery		T-GDisc L310	1.10	345.00	379.50
03/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re review of responses to TIEC's 11th and ETSWD's 4th set of RFIs / PUCT/Discovery	A106	T-GDisc L310	1.20	345.00	414.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/28/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze OPUC 11, responses, TIEC 11, responses, Eastman 1, responses, CARD 12, responses, cited responses and related testimonies / PUCT/Discovery	A104	T-GDisc L310	2.60	420.00	1,092.00
03/29/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to OPUC 11th RFI / PUCT/Discovery	A104	T-GDisc L310	0.40	420.00	168.00
03/29/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client S. Bankston et al. re responses to OPUC 11th RFI / PUCT/Discovery	A106	T-GDisc L310	0.20	420.00	84.00
03/29/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze response to CARD 12th RFI / PUCT/Discovery	A104	T-GDisc L310	0.30	420.00	126.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/29/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client J. Frederick et al. re response to CARD 12th RFI / PUCT/Discovery	A106	T-GDisc L310	0.60	420.00	252.00
03/29/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re OPUC 11 and responses and Eastman 1 and responses and CARD 12 and responses / PUCT/Discovery	A106	T-GDisc L310	1.30	420.00	546.00
03/29/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Eastman 1 and responses and CARD 12 and responses / PUCT/Discovery	A104	T-GDisc L310	1.00	420.00	420.00
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re review of Eastman's 1st set of RFIs / PUCT/Discovery	A106	T-GDisc L310	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to Eastman's 1st set of RFIs, CARD's 9th and 12th sets of RFIs, and NUCOR's 5th set of RFIs / PUCT/Discovery	A104	T-GDisc L310	1.10	345.00	379.50
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re review of CARD's 12th set of RFIs / PUCT/Discovery	A106	T-GDisc L310	0.60	345.00	207.00
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client J. Aaron re responses to Eastman 1st set of RFIs / PUCT/Discovery	A106	T-GDisc L310	0.10	345.00	34.50
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues re first set of RFIs to Eastman / PUCT/Discovery	A104	T-GDisc L310	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/29/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise SWEPCO's 1st to Eastman Chemical / PUCT/Discovery	A103	T-GDisc L310	0.20	145.00	29.00
				Component: T-GDisc	166.60		60,674.00
Component: T	「-GDiscMot						
01/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Discovery Motions Review/Analyze issues re potential objection to Nucor 1-3 / PUCT/Discovery Motions	A104	T-GDiscMot L350	0.20	345.00	69.00
01/20/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Discovery Motions Review/Analyze objection to Nucor RFI 1-3 / PUCT/Discovery Motions	A104	T-GDiscMot L350	0.20	345.00	69.00
01/21/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Discovery Motions Draft/Revise objection Nucor's 1st RFIs / PUCT/Discovery Motions	A103	T-GDiscMot L350	0.30	345.00	103.50

408.50

## Duggins Wren Mann & Romero, LLP Listing

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/22/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise objections to Nucor's 1st / PUCT/Discovery Motions	A103	T-GDiscMot L310	0.20	145.00	29.00
01/25/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Discovery Motions Review/Analyze communications re objection to Nucor 1- 3 / PUCT/Discovery Motions	A104	T-GDiscMot L350	0.20	345.00	69.00
02/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Discovery Motions Review/Analyze issues re objections to Nucor's 1st RFIs and potential objections to Nucor's 3rd RFIs and review communications re same / PUCT/Discovery Motions	A104	T-GDiscMot L350	0.20	345.00	69.00

Component: T-GDiscRev

**Component: T-GDiscMot** 

1.30

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/11/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft discovery responses to Sierra Club 1st RFI / PUCT/Discovery Review	A104	T-GDiscRev L310	1.20	360.00	432.00
01/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD's 5th and OPUC's 7th and compare to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	1.40	145.00	203.00
01/13/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Nucor's 1st and compare to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	0.20	145.00	29.00
01/18/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze and compare Staff's 8th to discovery propounded in prior rate cases / PUCT/Discovery Review	A104	T-GDiscRev L310	0.60	145.00	87.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/19/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze documents responsive to CARD's 5th / PUCT/Discovery Review	A104	T-GDiscRev L310	0.20	145.00	29.00
01/19/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Nucor's 2nd and TIEC's 5th and compare to discovery propounded in prior rate cases / PUCT/Discovery Review	A104	T-GDiscRev L310	0.70	145.00	101.50
01/22/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Manage Data/Files re outstanding statements under protective order / PUCT/Discovery Review	A110	T-GDiscRev L310	0.20	145.00	29.00
01/27/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Staff's 9th and compare to propounded discovery in prior rate cases / PUCT/Discovery Review	A104	T-GDiscRev L310	1.20	145.00	174.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/28/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze OPUC's 8th and compare to prior rate case discovery / PUCT/Discovery Review	A104	T-GDiscRev L310	0.20	145.00	29.00
01/29/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze and compare Staff's 10, TIEC's 6th, and CARD's 6 with discovery propounded in prior rate case discovery / PUCT/Discovery Review	A104	T-GDiscRev L310	0.60	145.00	87.00
01/29/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze assignments and issues relating to TIEC 6th and CARD 6th / PUCT/Discovery Review	A104	T-GDiscRev L310	1.20	360.00	432.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/01/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze propounded discovery for questions requesting communications and update tracking list re same / PUCT/Discovery Review	A104	T-GDiscRev L310	0.20	145.00	29.00
02/01/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to CARD 6 and Staff 10 / PUCT/Discovery Review	A104	T-GDiscRev L310	1.30	360.00	468.00
02/08/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to OPUC 8 and Staff 12 / PUCT/Discovery Review	A104	T-GDiscRev L310	1.10	360.00	396.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze and compare ETSWD's 2nd, Staff's 11th, Staff's 12th, and Nucor's 3rd and compare to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	1.60	145.00	232.00
02/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze and compare Staff's 13th and CARD's 7th to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	1.30	145.00	188.50
02/11/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to draft responses to Staff 9th RFI / PUCT/Discovery Review	A104 f	T-GDiscRev L310	3.20	360.00	1,152.00
02/11/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Staff 13th RFI and CARD 7th RFI / PUCT/Discovery Review	A104	T-GDiscRev L310	0.80	360.00	288.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/15/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to draft responses for CARD 6th and STAFF 10th RFIs / PUCT/Discovery Review	A104	T-GDiscRev L310	1.40	360.00	504.00
02/16/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to draft responses to TIEC 6th RFI / PUCT/Discovery Review	A104	T-GDiscRev L310	0.80	360.00	288.00
02/16/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to Staff 10 RFI / PUCT/Discovery Review	A104	T-GDiscRev L310	0.50	360.00	180.00
02/16/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to assignments for OPUC 9th RFI / PUCT/Discovery Review	A104	T-GDiscRev L310	0.60	360.00	216.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/17/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze OPUC's 9th and compare to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	0.50	145.00	72.50
02/18/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD's 8th and OPUC's 10th and compare to discovery propounded in prior rate case / PUCT/Discovery Review	A104 v	T-GDiscRev L310	1.00	145.00	145.00
02/19/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze ETEC NTEC's 1st and compare to discovery propounded in prior rate case / PUCT/Discovery Review	A104 C-	T-GDiscRev L310	1.00	145.00	145.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/19/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to OPUC 10th and CARD 8th RFIs / PUCT/Discovery Review	A104	T-GDiscRev L310	0.80	360.00	288.00
02/22/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to RFIs and assignments for ETEC and NTEC 1st / PUCT/Discovery Review	A104	T-GDiscRev L310	0.80	360.00	288.00
02/23/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze and compare Sierra Club's 2nd and 3rd, and TIEC's 8th to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	1.80	145.00	261.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/23/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to RFIs and assignments for Sierra Club 1st and TIEC 8th / PUCT/Discovery Review	A104	T-GDiscRev L310	0.70	360.00	252.00
02/24/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 7 responsive attachments / PUCT/Discovery Review	A104	T-GDiscRev L310	0.10	145.00	14.50
02/26/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC's 10th and Sierra Club's 4th and update procedural calendar re same / PUCT/Discovery Review	A104	T-GDiscRev L310	0.20	145.00	29.00
02/26/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Sierra Club's 4th and TIEC's 10th and compare to discovery propounded in prior rate cases / PUCT/Discovery Review		T-GDiscRev L310	0.40	145.00	58.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/26/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze issues relating to CARD 7th RFI and follow-up correspondence regarding responses to same / PUCT/Discovery Review	A104	T-GDiscRev L310	1.10	360.00	396.00
03/01/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze and compare ETEC-NTEC's 2nd to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	0.60	145.00	87.00
03/02/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze highly sensitive attachments responsive to Sierra Club 1-8 / PUCT/Discovery Review	A104	T-GDiscRev L310	0.30	145.00	43.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/02/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze TIEC's 7th and Staff's 14th and compare to discovery propounded in prior rate case / PUCT/Discovery Review	A104	T-GDiscRev L310	1.20	145.00	174.00
03/04/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to OPUC 9 / PUCT/Discovery Review	A104	T-GDiscRev L310	0.70	360.00	252.00
03/08/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze highly sensitive response to Sierra Club 1-5 / PUCT/Discovery Review	A104	T-GDiscRev L310	0.10	145.00	14.50
03/08/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to OPUC 10 and CARD 8 / PUCT/Discovery Review	A104	T-GDiscRev L310	1.10	360.00	396.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/09/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responsive attachments to Sierra Club's 2nd / PUCT/Discovery Review	A104	T-GDiscRev L310	0.30	145.00	43.50
03/09/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 9 and CARD 10 and compare to discovery propounded in prior rate case of	A104	T-GDiscRev L310	0.70	145.00	101.50
03/09/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to ETEC 1 / PUCT/Discovery Review	A104	T-GDiscRev L310	2.30	360.00	828.00
03/09/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to TIEC 8 / PUCT/Discovery Review	A104	T-GDiscRev L310	1.10	360.00	396.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze CARD 11 and 12, Staff 15, ETSWD 3, 4, and 5, Nucor 4 and 5, Sierra Club 5, TIEC 11, and OPUC 11 and compare to discovery propounded in prior rate cases / PUCT/Discovery Review		T-GDiscRev L310	2.30	145.00	333.50
03/10/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft response to Sierra Club 2 / PUCT/Discovery Review	A104	T-GDiscRev L310	1.40	360.00	504.00
03/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise statement under protective order re second supplemental response to CARD 2 and responses to CARD 7, Staff 11, and CARD 8 / PUCT/Discovery Review	A103	T-GDiscRev L310	0.80	145.00	116.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/11/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to Sierra Club 3 / PUCT/Discovery Review	A104	T-GDiscRev L310	0.50	360.00	180.00
03/12/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to TIEC 10	A104	T-GDiscRev L310	0.40	360.00	144.00
03/18/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise statement under protective order re Sierra Club's 2nd / PUCT/Discovery Review	A103	T-GDiscRev L310	0.20	145.00	29.00
03/19/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze statements under protective order re CARD 2 (2nd Supplemental), CARD 7, Staff 11, and CARD 8 / PUCT/Discovery Review	A104	T-GDiscRev L310	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/22/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to CARD 10 / PUCT/Discovery Review	A104	T-GDiscRev L310	0.30	360.00	108.00
03/23/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze possible responsive attachments to CARD's 9th / PUCT/Discovery Review	A104	T-GDiscRev L310	0.10	145.00	14.50
03/23/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to ETSWD 3 / PUCT/Discovery Review	A104	T-GDiscRev L310	0.60	360.00	216.00
03/24/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze possible CARD 9 responsive documents / PUCT/Discovery Review	A104	T-GDiscRev L310	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	e Component Task Code	Units	Price	Value
03/25/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to CARD 9 / PUCT/Discovery Review	A104	T-GDiscRev L310	1.20	360.00	432.00
03/29/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze draft responses to OPUC 11 and CARD 12 / PUCT/Discovery Review	A104	T-GDiscRev L310	1.10	360.00	396.00
			С	omponent: T-GDiscRev	46.40		12,361.00
Component: T	-GFile						
01/05/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/File and Document Management	A110	T-GFile L440	1.50	145.00	217.50
01/07/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze SOAH Order No. 3 / PUCT/File and Document Management	A104	T-GFile L210	0.20	145.00	29.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/07/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Review/Analyze City of East Mountain and Gilmer resolutions / PUCT/File and Document Management	A104	T-GFile L140	0.20	145.00	29.00
01/08/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Investigation/Development Communicate with client G. Gullickson re prior rate case open meeting transcript issues / PUCT/File and Document Management	A106	T-GFile L110	0.10	145.00	14.50
01/12/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze protected responses to TIEC 1-17 / PUCT/File and Document Management	A104	T-GFile L310	0.20	145.00	29.00
01/20/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Draft/Revise list of persons subject to protective order re ETEC/NTEC / PUCT/File and Document Management	A103	T-GFile L140	0.20	145.00	29.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/21/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Draft/Revise list of persons subject to protective order to include Nucor Steel / PUCT/File and Document Management	A103	T-GFile L140	0.10	145.00	14.50
02/17/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise list re outstanding discovery / PUCT/File and Document Management	A103	T-GFile L310	0.10	145.00	14.50
02/17/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record / PUCT/File and Document Management	A110	T-GFile L440	1.10	145.00	159.50
02/22/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record / PUCT/File and Document Management	A110	T-GFile L440	1.50	145.00	217.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/23/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record / PUCT/File and Document Management	A110	T-GFile L440	1.80	145.00	261.00
02/23/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze SOAH Order No. 4 and update procedural calendar re same / PUCT/File and Document Management	A104	T-GFile L210	0.20	145.00	29.00
02/26/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Draft/Revise list of outstanding discovery / PUCT/File and Document Management		T-GFile L140	0.10	145.00	14.50
02/26/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Draft/Revise list of persons subject to protective order / PUCT/File and Document Management	A103	T-GFile L140	0.20	145.00	29.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/01/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Draft/Revise list of persons subject to protective order to include additional TIEC / PUCT/File and Document Management	A103	T-GFile L140	0.10	145.00	14.50
03/04/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks	A110	T-GFile L440	0.60	145.00	87.00
03/08/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise outstanding discovery list / PUCT/File and Document Management	A103	T-GFile L310	0.10	145.00	14.50
03/09/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/File and Document Management	A110	T-GFile L440	2.10	145.00	304.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Review/Analyze list of TIEC members / PUCT/File and Document Management	A104	T-GFile L140	0.10	145.00	14.50
03/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Draft/Revise outstanding discovery list / PUCT/File and Document Management	A103	T-GFile L310	0.10	145.00	14.50
03/16/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Communicate with client T. Walker re witness notebook issues / PUCT/File and Document Management	A106	T-GFile L410	0.10	145.00	14.50
03/25/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/File and Document Management	A110	T-GFile L440	1.30	145.00	188.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/26/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Review/Analyze list of persons subject to protective order / PUCT/File and Document Management	A104	T-GFile L140	0.10	145.00	14.50
03/30/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record / PUCT/File and Document Management	A110	T-GFile L440	2.60	145.00	377.00
03/30/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client G. Gullickson re CARD's 11th highly sensitive response / PUCT/File and Document Management	A106	T-GFile L310	0.10	145.00	14.50
				Component: T-GFile	14.80		2,146.00

Component: T-GHrgPrep

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/08/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.50	145.00	217.50
01/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze best ZOOM hearing practices / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.10	145.00	14.50
01/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.40	145.00	203.00
01/12/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.80	145.00	261.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/13/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.60	145.00	232.00
01/14/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.50	145.00	217.50
01/15/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	2.00	145.00	290.00
01/18/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.80	145.00	261.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/19/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	0.80	145.00	116.00
01/20/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.00	145.00	145.00
01/21/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.50	145.00	217.50
01/22/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.40	145.00	203.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/25/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	0.60	145.00	87.00
02/10/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze procedural schedule, testimony, and hearing plan / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.20	420.00	84.00
02/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	3.00	145.00	435.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/11/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze rebuttal testimony preparation issues, witness and hearing preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	420.00	168.00
02/23/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze Order No. 4 and hearing issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L250	0.50	420.00	210.00
03/02/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.70	420.00	294.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re strategy, timing, structure, and scope of meetings with witnesses to plan and prepare for hearing and cross-examination issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.20	345.00	414.00
03/03/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	1.20	145.00	174.00
03/08/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re scope, structure, and strategy for hearing and witness planning sessions / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.30	345.00	103.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/08/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.50	420.00	210.00
03/09/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice re hearing and witness prep issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.20	420.00	84.00
03/09/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.20	420.00	504.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/10/2021	PJP	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re strategy for and meetings with witnesses for hearing preparation and communications re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.50	345.00	172.50
03/10/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparations issues and correspondence re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.40	420.00	588.00
03/11/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston et al. re preparations for hearing / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.70	420.00	294.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	2.80	145.00	406.00
03/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice, S. Bankston, and litigation team re planning for and coordination of hearing and witness preparation meetings / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.70	345.00	241.50
03/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing and witness preparation / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	345.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston and J. Rowe re planning for witness preparation sessions / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.50	345.00	172.50
03/11/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.90	420.00	378.00
03/11/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.70	420.00	294.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/12/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice and S. Bankston re witness preparation strategy, coordination, and scope / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.80	345.00	276.00
03/12/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re timing, structure, and strategy of witness preparation meetings / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	345.00	138.00
03/12/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and correspondence re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.00	420.00	420.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re strategy, scope, and timing of hearing and witness preparation / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	0.60	345.00	207.00
03/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston and D. Day re strategy and planning for witness and hearing preparation / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.10	345.00	379.50
03/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues and plan for witness and hearing preparation / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/15/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.00	420.00	420.00
03/15/2021	WOC	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston and litigation team re hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.80	420.00	336.00
03/16/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston and D. Day re witness preparation issues, strategy, and timing / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.10	345.00	379.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/16/2021	PJP	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re witness preparation meetings, strategy re same, and scope of witnesses attending / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	345.00	138.00
03/17/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and correspondence re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.50	420.00	210.00
03/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing and witness preparation strategy and coordination / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/18/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	0.80	145.00	116.00
03/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze petition, policy testimony, and testimony of D. Seidel, P. Pratt, and L. Ferry-Nelson, and analyze issues re hearing and witness preparation / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	2.60	345.00	897.00
03/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client L. Melhem and M. Gage re witness preparation meetings / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/19/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	2.70	145.00	391.50
03/19/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Review/Analyze witness preparation issues and rate case hearing preparations / PUCT/Hearing Preparation and Support		T-GHrgPrep L410	1.20	360.00	432.00
03/19/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and contested issue identification / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	4.80	420.00	2,016.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re scope of case case drivers, and witness and hearing preparation issues / PUCT/Hearing Preparation and Support	A104 ,	T-GHrgPrep L440	4.00	345.00	1,380.00
03/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plar and prepare for meeting re timing and strategy of witness preparation sessions / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	0.60	345.00	207.00
03/20/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and correspondence re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.80	420.00	336.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/22/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	5.70	145.00	826.50
03/22/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues, M. Baird testimony, and potential cross examination questions / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.60	420.00	1,092.00
03/22/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.60	420.00	252.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/22/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re strategy and timing of witness preparation sessions / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.60	345.00	207.00
03/22/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze witness testimony and relevant discovery responses and analyze issues re witness preparation issues for L. Ferry-Nelson, D. Seidel, and P. Pratt / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	3.20	345.00	1,104.00
03/23/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and correspondence re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.80	420.00	336.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/23/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re potential cross examination for L. Ferry-Nelson, D. Seidel, and P. Pratt / PUCT/Hearing Preparation and Support	A104 -	T-GHrgPrep L440	0.70	345.00	241.50
03/23/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re structure and strategy for witness preparation sessions and communications with litigation team re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	345.00	138.00
03/24/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness preparation session / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	4.00	360.00	1,440.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/24/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and correspondence re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	420.00	168.00
03/24/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client witnesses and support re hearing and testimony issues / PUCT/Hearing Preparation and Suppor		T-GHrgPrep L440	3.00	420.00	1,260.00
03/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Appear for/attend witness preparation session with L. Ferry Nelson, D. Seidel, P. Pratt, S. Swick, S. Stoffer, and D. Hodgson / PUCT/Hearing Preparation and Support		T-GHrgPrep L410	3.80	345.00	1,311.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze potential cross- examination issues for L. Ferry-Nelson, P. Pratt, and D. Seidel / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.80	345.00	621.00
03/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston re feedback on witness participation in preparation sessions / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.20	345.00	69.00
03/25/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness preparation session / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	3.60	360.00	1,296.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/25/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client witnesses and support re hearing and testimony issues / PUCT/Hearing Preparation and Suppor	A106 t	T-GHrgPrep L440	2.60	420.00	1,092.00
03/25/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	420.00	168.00
03/25/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness preparation session / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	3.60	345.00	1,242.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/25/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze potential cross- examination issues for L. Ferry-Nelson, D. Seidel, and P. Pratt / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.40	345.00	828.00
03/26/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness preparation session / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	4.30	360.00	1,548.00
03/26/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client witnesses and support re hearing and testimony issues / PUCT/Hearing Preparation and Suppor	A106 t	T-GHrgPrep L440	3.20	420.00	1,344.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness preparation session / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	4.00	345.00	1,380.00
03/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness preparation session / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	0.40	345.00	138.00
03/26/2021	CAB	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness preparation / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	3.70	350.00	1,295.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/29/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client witnesses and support re hearing and testimony issues / PUCT/Hearing Preparation and Suppor	A106	T-GHrgPrep L440	0.80	420.00	336.00
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re D. Seidel potential cross-examination issues on distribution O&M and capital investment PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.90	345.00	310.50
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness preparation session with D. Seidel / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	0.80	345.00	276.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice re hearing preparation and witness issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.20	345.00	69.00
03/29/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze prior-filed testimony and discovery responses in preparation for intervenor testimony analysis / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.20	360.00	432.00
03/30/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external N. Martinez, SOAH, re May hearing issues / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/30/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze SOAH 3-10-21 Emergency Order and COVID Information re May hearing practices and procedures / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	0.20	145.00	29.00
03/30/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Communicate with client litigation team and T. Brice re rebuttal preparation plan / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L410	0.60	420.00	252.00
03/30/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Review/Analyze rebuttal preparation plan issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L410	0.40	420.00	168.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Co	de Component Task Code	Units	Price	Value
03/30/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client about intervenor testimony review assignments and issue development / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.60	360.00	216.00
03/31/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze intervenor testimony and related issues with client / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	6.70	360.00	2,412.00
				Component: T-GHrgPrep	129.30		40,628.50
Component: T	-GMot						
03/26/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Expert Witnesses Review/Analyze and prepare information for potential objections to intervenor testimony / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L420	0.60	230.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/30/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise objections to intervenor testimony / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	0.90	230.00	207.00
03/30/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze municipal appeal draft / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.20	230.00	46.00
03/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze joint motion to amend procedural schedule for direct and rebuttal testimony addressing supplemental rate-case expense reports / PUCT/Non-Discovery Pleadings and Motions		T-GMot L210	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Communicate with other external counsel for Staff, OPUC, CARD and TIEC re motion to amend procedural schedule for direct and rebuttal testimony addressing supplemental rate- case expense reports / PUCT/Non- Discovery Pleadings and Motions		T-GMot L210	0.20	345.00	69.00
				Component: T-GMot	2.10		529.00
Component: T	-GMuni						
01/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re municipal ordinances suspending and denying rate relief requested / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L120	0.20	345.00	69.00
01/14/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re appeals of municipal ordinances / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L120	0.30	345.00	103.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/14/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze M. Gage re municipal ordinance appeals / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L120	0.20	345.00	69.00
01/20/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise fourth petition for review of municipal action / PUCT/Municipal Appeals, Issues Affecting Municipalities	A103	T-GMuni L210	0.30	345.00	103.50
01/20/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Communicate with client M. Gage and L. Melhem re fourth petition for review of municipal action / PUCT/Municipal Appeals, Issues Affecting Municipalities	A106	T-GMuni L210	0.40	345.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/27/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with other external issues re request from CARD counsel A. Herrera re deadline for municipal action / PUCT/Municipal Appeals, Issues Affecting Municipalities	A108	T-GMuni L120	0.30	345.00	103.50
01/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re status of appeals of municipal action on rate request / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L120	0.30	345.00	103.50
01/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with other external CARD counsel A. Herrera re timing of municipal action on rate relief request / PUCT/Municipal Appeals, Issues Affecting Municipalities	A108	T-GMuni L120	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
02/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with other external CARD counsel A. Herrera re deadline for cities that suspended requested rate relief to act / PUCT/Municipal Appeals, Issues Affecting Municipalities	A108	T-GMuni L120	0.20	345.00	69.00
02/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re appeals of municipalities that timely suspended but have not taken action prior to expiration of suspension period / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L120	0.30	345.00	103.50
03/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with other external CARD counsel A. Herrera re timing of appeals of municipal action on rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities	A108	T-GMuni L120	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/03/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Review/Analyze city actions and final appeal issues re same / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L140	0.20	145.00	29.00
03/03/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re timing of final appeals of municipal action on requested rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L120	0.20	345.00	69.00
03/04/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with other external CARD counsel A. Herrera re municipal action on rate relief and appeals of same / PUCT/Municipal Appeals, Issues Affecting Municipalities	A108	T-GMuni L120	0.10	345.00	34.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with other external CARD counsel A. Herrera re municipal action requested rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities	A108	T-GMuni L120	0.20	345.00	69.00
03/09/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re appeals of municipalities that suspended but subsequently failed to act on requested rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities		T-GMuni L120	0.20	345.00	69.00
03/14/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise 5th appeal of city action/inaction and petition to consolidate same / PUCT/Municipal Appeals, Issues Affecting Municipalities		T-GMuni L210	0.30	145.00	43.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/15/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise 5th appeal of city action / PUCT/Municipal Appeals, Issues Affecting Municipalities		T-GMuni L210	0.40	145.00	58.00
03/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise SWEPCO's 5th appeal of municipal action on requested rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities	A103	T-GMuni L210	1.10	345.00	379.50
03/17/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Manage Data/Files re notice of SWEPCO's 5th appeal of city actions / PUCT/Municipal Appeals, Issues Affecting Municipalities	A110	T-GMuni L210	0.20	145.00	29.00
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise sixth appeal of municipal rate action / PUCT/Municipal Appeals, Issues Affecting Municipalities	A103	T-GMuni L210	0.80	345.00	276.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze issues re municipal action and inaction on SWEPCO requested rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L210	0.50	345.00	172.50
03/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Communicate with other external CARD counsel A. Herrera re appeals of municipal action rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities	A108	T-GMuni L210	0.20	345.00	69.00
03/29/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Document/File Management Review/Analyze new city actions received from CARD / PUCT/Municipal Appeals, Issues Affecting Municipalities	A104	T-GMuni L140	0.20	145.00	29.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
03/30/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise 6th appeal re city action/inaction and exhibits to same / PUCT/Municipal Appeals, Issues Affecting Municipalities	A103	T-GMuni L210	0.40	145.00	58.00
03/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise and finalize 6th appeal of municipal actions on requested rate relief / PUCT/Municipal Appeals, Issues Affecting Municipalities	A103	T-GMuni L210	0.40	345.00	138.00
				Component: T-GMuni	8.30		2,523.50
Component: T	-GNotice						
01/04/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with client S. Bankston and J. Griffin re status of notice / PUCT/Notice Issues	A106	T-GNotice L120	0.20	345.00	69.00
03/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Communicate with client S. Bankston re proof of notice / PUCT/Notice Issues	A106	T-GNotice L120	0.40	345.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
			(	Component: T-GNotice	0.60		207.00
Component: T	T-GSettle						
02/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re planning and operation of generating units and forecasts of related statistics / PUCT/Settlement Activities	A104	T-GSettle L120	0.50	345.00	172.50
				Component: T-GSettle	0.50		172.50
Component: 1	T-RateDes						
01/18/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Staff 8, responses, ETSWD 1, responses, and rate design issues / PUCT/Rate Design	A104	T-RateDes L310	1.20	420.00	504.00
01/18/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team and J. Aaron re Staf 8, responses, ETSWD 1, responses, and rate design issues / PUCT/Rate Design		T-RateDes L310	0.90	420.00	378.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
01/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze responses to Staff's 8th set of RFIs / PUCT/Rate Design	A104	T-RateDes L310	0.50	345.00	172.50
01/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client litigation team re review of responses to Staff's 8th set of RFIs / PUCT/Rate Design	A106	T-RateDes L310	1.00	345.00	345.00
02/11/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Review/Analyze Nucol 3 and rate design issues / PUCT/Rate Design	A104	T-RateDes L310	0.30	420.00	126.00
02/18/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Written Discovery Communicate with client rate design team re ETSWD 2 and rate design issues / PUCT/Rate Design	A106	T-RateDes L310	0.30	420.00	126.00